### 2014

# **Graceland Cemetery**

### Janaury Revenue Report

2014 Prices

Description	Amount	Fee	Total Amount
Lot Sales			
Adult Resident			
Resident	4	\$935.00	\$3,740.00
Non Resident	1	\$1,210.00	\$1,210.00
Resident Family HSD	1	\$435.00	\$435.00
Non Resident Family HSD		\$710.00	\$0.00
Interments			
Infant		\$60.00	\$0.00
Adult			
Resident	8	\$980.00	\$7,840.00
Non Resident	1	\$1,265.00	\$1,265.00
Resident Family HSD	1	\$480.00	\$480.00
Non Resident Family HSD		\$765.00	\$0.00
Cremation			
Resident	3	\$585.00	\$1,755.00
Non Resident		\$715.00	\$0.00
Double Depth		\$435.00	\$0.00
Miscellaneous			
Graveside Lower Device	1	\$65.00	\$65.00
Cremation Stand/Set-Up	5	\$30.00	\$150.00
Recording Fee	2	\$60.00	\$120.00
Head Stone Foundation	6	\$45.00	\$270.00
Saturday Burial		\$370.00	\$0.00
Urn Vault			
Resident		\$715.00	\$0.00
Single Inscription		\$465.00	\$0.00
Niche Vase		\$125.00	\$0.00
Double Inscription		\$550.00	\$0.00
Price Adjustment			\$1,030.00
Graceland Total			\$18,360.00

#### 2017 Graceland Cemetery January Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	2	\$975.00	\$1,950.00
Adult - Non Resident	3	\$1,072.00	\$3,216.00
Adult - Resident Family HSD	1	\$475.00	\$475.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
INTERMENTS (BURIALS)			
Adult - Resident	3	\$1,050.00	\$3,150.00
Adult - Non Resident	2	\$1,155.00	\$2,310.00
Adult - Resident Family HSD	1	\$550.00	\$550.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	2	\$650.00	\$1,300.00
Cremation - Non Resident		\$715.00	\$0.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00
DISINTERMENTS			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
MISCELLANEOUS FEES			
Cremation Stand / Set-up	2	\$40.00	\$80.00

#### 2017 Graceland Cemetery January Revenue Report

\$	\$70.00		Graveside Lowering Device
\$	\$50.00		Headstone Foundation Fee
\$	\$40.00		Genealogy Research / Hr.
\$	\$70.00		Recording & Transfer
\$	\$2.00		Photocopies
\$	\$25.00		Headstone Photos
\$	\$45.00		Holiday Wreath Sales
\$4,00	\$500.00	8	Dept. of Health Svcs. HSD
\$	\$100.00		HSD Infants - All fees
			Saturday Service Fees
\$	\$370.00		9:00 am - 12:00 noon
\$	\$435.00		12:00 noon - 1:00 pm
\$50	\$500.00	1	1:00 - 2:00 pm
			Chapel Fees
\$	\$0.00		1st Hour with Burial
\$	\$150.00		Additional Hour(s) w/Burial
\$1	\$260.00		1st Hour Without Burial
			Govt' Marker Installation
\$	\$250.00		Granite
\$	\$200.00		Cremation
\$	\$300.00		Bronze
\$17,53			Graceland Total
	evenue Report	016 Crypt/Ni	2
			CRYPT/NICHE REVENUES
\$6,03	\$6,030.00		Crypt Niche Revenues
\$6,03			Graceland Total
)	\$6,030.00		

#### 2017 Graceland Cemetery January Revenue Report

## 2016 Graceland Cemetery February Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	5	\$975.00	\$4,875.00
Adult - Non Resident	2	\$1,072.00	\$2,144.00
Adult - Resident Family HSD		\$475.00	\$0.00
Adult - Non Resident Family HSD	1	\$572.00	\$572.00
<b>Child</b> - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	7	\$1,050.00	\$7,350.00
Adult - Non Resident	3	\$1,155.00	\$3,465.00
Adult - Resident Family HSD		\$550.00	\$0.00
Adult - Non Resident Family HSD	1	\$655.00	\$655.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
<b>Child</b> - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	1	\$650.00	\$650.00
Cremation - Non Resident		\$715.00	\$0.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

## 2016 Graceland Cemetery February Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Miscellaneous fee -			
Cremation Stand / Set-up	1	\$40.00	\$40.00
Graveside Lowering Device		\$70.00	\$0.00
Headstone Foundation Fee		\$50.00	\$0.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	7	\$500.00	\$3,500.00
HSD Infants - All fees		\$100.00	\$0.00
Saturday Service Fees			
9:00 am - 12:00 noon		\$370.00	\$0.00
12:00 noon - 1:00 pm	1	\$435.00	\$435.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial Additional Hour(s) w/Burial		\$0.00 \$150.00	\$0.00 \$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$23,686.00

## 2016 Graceland Cemetery February Revenue Report

2016 Crypt/Niches Revenue Report				
Crypt/Niche Sales				
Sales, O/C, Insc. Combined	\$4,650.00	\$4,650.00		
		\$0.00		
Graceland Total		\$4,650.00		

#### 2016 Graceland Cemetery March Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	5	\$975.00	\$4,875.00
Adult - Non Resident	1	\$1,072.00	\$1,072.00
Adult - Resident Family HSD	1	\$475.00	\$475.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	4	\$1,050.00	\$4,200.00
Adult - Non Resident	3	\$1,155.00	\$3,465.00
Adult - Resident Family HSD	1	\$550.00	\$550.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	1	\$650.00	\$650.00
Cremation - Non Resident	1	\$715.00	\$715.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

#### 2016 Graceland Cemetery March Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Miscellaneous fee -			
Cremation Stand / Set-up		\$40.00	\$0.00
Graveside Lowering Device		\$70.00	\$0.00
Headstone Foundation Fee	1	\$50.00	\$50.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD		\$500.00	\$0.00
HSD Infants - All fees		\$100.00	\$0.00
Saturday Service Fees			
9:00 am - 12:00 noon		\$370.00	\$0.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$16,052.00

#### 2016 Graceland Cemetery March Revenue Report

2016 Crypt/Niches Revenue Report				
Nicho O/C cotus inconiution				
Niche, O/C, setup, inscription				
Resident		\$2,640.00	\$2,640.00	
Non Resident		\$990.00	\$0.00	
Graceland Total			\$2,640.00	

#### 2016 Graceland Cemetery April Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	8	\$975.00	\$7,800.00
Adult - Non Resident	3	\$1,072.00	\$3,216.00
Adult - Resident Family HSD	2	\$475.00	\$950.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
<b>Child</b> - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	8	\$1,050.00	\$8,400.00
Adult - Non Resident	3	\$1,155.00	\$3,465.00
Adult - Resident Family HSD	2	\$550.00	\$1,100.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	1	\$650.00	\$650.00
Cremation - Non Resident		\$715.00	\$0.00
Double Depth (1st) Resident	1	\$450.00	\$450.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

#### 2016 Graceland Cemetery April Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Miscellaneous fee -			
Cremation Stand / Set-up	1	\$40.00	\$40.00
Graveside Lowering Device		\$70.00	\$0.00
Headstone Foundation Fee	1	\$50.00	\$50.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees		\$100.00	\$0.00
Miscellaneous - Fam Fees (HSD)		\$165.00	\$165.00
Saturday Service Fees			
9:00 am - 12:00 noon	1	\$370.00	\$370.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm	2	\$500.00	\$1,000.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$28,656.00

#### 2016 Graceland Cemetery April Revenue Report

2016 Crypt/Niches Revenue Report			
Count 9 Nich a Found			
Crypt & Niche Fund			
Crypt and Niche sales / Insc.	\$4,830.00	\$4,830.00	
Graceland Total		\$4,830.00	

#### 2016 Graceland Cementery May Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	2	\$975.00	\$1,950.00
Adult - Non Resident	2	\$1,072.00	\$2,144.00
Adult - Resident Family HSD	3	\$475.00	\$1,425.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave	2	\$60.00	\$120.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	5	\$1,050.00	\$5,250.00
Adult - Non Resident	3	\$1,155.00	\$3,465.00
Adult - Resident Family HSD	3	\$550.00	\$1,650.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	3	\$650.00	\$1,950.00
Cremation - Non Resident	1	\$715.00	\$715.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

#### 2016 Graceland Cementery May Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Fam - Cremation Fee	1	\$50.00	\$50.00
Cremation Stand / Set-up	6	\$40.00	\$240.00
Graveside Lowering Device		\$70.00	\$0.00
<b>Headstone Foundation Fee</b>	36	\$50.00	\$1,800.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees	1	\$100.00	\$100.00
Saturday Service Fees			
9:00 am - 12:00 noon	1	\$370.00	\$370.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm	1	\$500.00	\$500.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$22,729.00

#### 2016 Graceland Cementery May Revenue Report

2016 Crypt/Niches Revenue Report			
Crypt/Niche Revenues	\$9,500.00	\$9,500.00	
Graceland Total		\$9,500.00	

#### 2016 Graceland Cemetery June Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	2	\$975.00	\$1,950.00
Adult - Non Resident		\$1,072.00	\$0.00
Adult - Resident Family HSD		\$475.00	\$0.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
<b>Child</b> - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave	1	\$60.00	\$60.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	4	\$1,050.00	\$4,200.00
Adult - Non Resident	1	\$1,155.00	\$1,155.00
Adult - Resident Family HSD		\$550.00	\$0.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident	1	\$825.00	\$825.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	5	\$650.00	\$3,250.00
Cremation - Non Resident	1	\$715.00	\$715.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

#### 2016 Graceland Cemetery June Revenue Report

Disinterment			
Adult	1	\$2,100.00	\$2,100.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Miscellaneous fee -			
Cremation Stand / Set-up	7	\$40.00	\$280.00
<b>Graveside Lowering Device</b>		\$70.00	\$0.00
Headstone Foundation Fee	28	\$50.00	\$1,400.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD		\$500.00	\$0.00
HSD Infants - All fees		\$100.00	\$0.00
Saturday Service Fees			
9:00 am - 12:00 noon		\$370.00	\$0.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite	1	\$250.00	\$250.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$16,185.00

#### 2016 Graceland Cemetery June Revenue Report

2016 Crypt/Niches Revenue Report				
Crypt/Niche Revenue				\$7,690.00
Graceland Total				\$7,690.00

2016 Graceland Cemetery July Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	5	\$975.00	\$4,875.00
Adult - Non Resident	1	\$1,072.00	\$1,072.00
Adult - Resident Family HSD	2	\$475.00	\$950.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
<b>Child</b> - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave	1	\$60.00	\$60.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	5	\$1,050.00	\$5,250.00
Adult - Non Resident	2	\$1,155.00	\$2,310.00
Adult - Resident Family HSD	2	\$550.00	\$1,100.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	2	\$650.00	\$1,300.00
Cremation - Non Resident	1	\$715.00	\$715.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

2016 Graceland Cemetery July Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Miscellaneous fee - fam. Portion		\$650.00	\$650.00
Cremation Stand / Set-up	3	\$40.00	\$120.00
Graveside Lowering Device		\$70.00	\$0.00
Headstone Foundation Fee	1	\$50.00	\$50.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	6	\$500.00	\$3,000.00
HSD Infants - All fees		\$100.00	\$0.00
Saturday Service Fees			
9:00 am - 12:00 noon	1	\$370.00	\$370.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze	1	\$300.00	\$300.00
Graceland Total			\$22,122.00

#### 2016 Graceland Cemetery July Revenue Report

2016 Crypt/Niches Revenue Report			
Crypt/Niche revenue			
Resident		\$8,100.00	\$8,100.00
Non Resident		\$990.00	\$0.00
Graceland Total			\$8,100.00

2016 Graceland Cemetery August Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	6	\$975.00	\$5,850.00
Adult - Non Resident		\$1,072.00	\$0.00
Adult - Resident Family HSD	1	\$475.00	\$475.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
Interments (Burials)			
Adult - Resident	7	\$1,050.00	\$7,350.00
Adult - Non Resident		\$1,155.00	\$0.00
Adult - Resident Family HSD	1	\$550.00	\$550.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	3	\$650.00	\$1,950.00
Cremation - Non Resident		\$715.00	\$0.00
Double Depth (1st) Resident	2	\$450.00	\$900.00
Double Depth (1st) Non Resident		\$495.00	\$0.00

2016 Graceland Cemetery August Revenue Report

Disinterment			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
Fam portion - burial	1	\$50.00	\$50.00
Cremation Stand / Set-up	1	\$40.00	\$40.00
<b>Graveside Lowering Device</b>		\$70.00	\$0.00
Headstone Foundation Fee	9	\$50.00	\$450.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees		\$100.00	\$0.00
Saturday Service Fees			
9:00 am - 12:00 noon		\$370.00	\$0.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation	1	\$200.00	\$200.00
Bronze		\$300.00	\$0.00
Graceland Total			\$18,815.00

#### 2016 Graceland Cemetery August Revenue Report

2016 Crypt/Niches Revenue Report			
Crypts/Niches - Revenue			
Crypts/Niches revenue		\$4,190.00	\$4,190.00
Non Resident		\$990.00	\$0.00
Graceland Total			\$4,190.00

2016 Graceland Cemetery September Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	2	\$975.00	\$1,950.00
Adult - Non Resident	2	\$1,072.00	\$2,144.00
Adult - Resident Family HSD	3	\$475.00	\$1,425.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
INTERMENTS (BURIALS)			
Adult - Resident	9	\$1,050.00	\$9,450.00
Adult - Non Resident	2	\$1,155.00	\$2,310.00
Adult - Resident Family HSD	3	\$550.00	\$1,650.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	3	\$650.00	\$1,950.00
Cremation - Non Resident	2	\$715.00	\$1,430.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00
DISINTERMENT			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
MISCELLANEOUS FEES			
Cremation Stand / Set-up	3	\$40.00	\$120.00
Graveside Lowering Device	1	\$70.00	\$70.00

2016 Graceland Cemetery September Revenue Report

Headstone Foundation Fee	22	\$50.00	\$1,100.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales		\$45.00	\$0.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees		\$100.00	\$0.00
Misc. non-standard fees	1	\$55.00	\$55.00
Saturday Service Fees			
9:00 am - 12:00 noon	1	\$370.00	\$370.00
12:00 noon - 1:00 pm	1	\$435.00	\$435.00
1:00 - 2:00 pm	1	\$500.00	\$500.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze	2	\$300.00	\$600.00
Graceland Total			\$26,559.00
	O1C Count (Nichos D		
2	016 Crypt/Niches Ro	evenue keport	
Crypt/Niche Revenues			
Crypt/Niche sales		\$1,930.00	\$1,930.00
Graceland Total			\$1,930.00

2016 Graceland Cemetery October Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	3	\$975.00	\$2,925.00
Adult - Non Resident	4	\$1,072.00	\$4,288.00
Adult - Resident Family HSD		\$475.00	\$0.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
INTERMENT (BURIALS)			
Adult - Resident	5	\$1,050.00	\$5,250.00
Adult - Non Resident	4	\$1,155.00	\$4,620.00
Adult - Resident Family HSD		\$550.00	\$0.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
<b>Child</b> - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	1	\$650.00	\$650.00
Cremation - Non Resident	3	\$715.00	\$2,145.00
Double Depth (1st) Resident	2	\$450.00	\$900.00
Double Depth (1st) Non Resident		\$495.00	\$0.00
DISINTERMENT			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
MISCELLANEOUS FEES			
Cremation Stand / Set-up	2	\$40.00	\$80.00

2016 Graceland Cemetery October Revenue Report

Graveside Lowering Device		\$70.00	\$0.00
Headstone Foundation Fee	7	\$50.00	\$350.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer	1	\$70.00	\$70.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales	10	\$45.00	\$450.00
Dept. of Health Svcs. HSD	4	\$500.00	\$2,000.00
HSD Infants - All fees	1	\$100.00	\$100.00
Non-Standard HSD fees collected		\$690.00	\$690.00
Non-Standard Fam fees collected		\$50.00	\$50.00
SATURDAY SERVICE FEES			
9:00 am - 12:00 noon	3	\$370.00	\$1,110.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
CHAPEL FEES			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
G.I. MARKER INSTALLATION FEES			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
GRACELAND TOTAL			\$25,678.00
20:	L6 Crypt/Niches F	Revenue Report	
CRYPT/NICHE REVENUES			
Crypt/Niche Revenues		\$6,880.00	\$6,880.00
Graceland Total			\$6,880.00

2016 Graceland Cemetery November Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	7	\$975.00	\$6,825.00
Adult - Non Resident	2	\$1,072.00	\$2,144.00
Adult - Resident Family HSD		\$475.00	\$0.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
INTERMENTS (BURIALS)			
Adult - Resident	13	\$1,050.00	\$13,650.00
Adult - Non Resident	4	\$1,155.00	\$4,620.00
Adult - Resident Family HSD		\$550.00	\$0.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
<b>Child</b> - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	0	\$650.00	\$0.00
Cremation - Non Resident	1	\$715.00	\$715.00
Double Depth (1st) Resident		\$450.00	\$0.00
Double Depth (1st) Non Resident		\$495.00	\$0.00
DISINTERMENT FEES			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
MISCELLANEOUS FEES			
Cremation Stand / Set-up	1	\$40.00	\$40.00
Graveside Lowering Device		\$70.00	\$0.00

2016 Graceland Cemetery November Revenue Report

Headstone Foundation Fee	17	\$50.00	\$850.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer	2	\$70.00	\$140.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales	21	\$45.00	\$945.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees		\$100.00	\$0.00
HSD cremation - all fees		\$690.00	\$690.00
Saturday Service Fees			
9:00 am - 12:00 noon	2	\$370.00	\$740.00
12:00 noon - 1:00 pm	3	\$435.00	\$1,305.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$33,664.00
	2046 Co. at /Nichae D	Barrie Barrie	
<u> </u>	2016 Crypt/Niches Re	evenue Keport	
CRYPT/NICHE REVENUES			
Crypts/Niches Revenue		\$1,755.00	\$1,755.00
Graceland Total			\$1,755.00

2016 Graceland Cemetery December Revenue Report

Description	Amount	Fee	Total Amount
GRAVES			
Adult - Resident	5	\$975.00	\$4,875.00
Adult - Non Resident	1	\$1,072.00	\$1,072.00
Adult - Resident Family HSD	2	\$475.00	\$950.00
Adult - Non Resident Family HSD		\$572.00	\$0.00
Child - Resident		\$0.00	\$0.00
Child - Non Resident		\$1,010.00	\$0.00
Infant Grave		\$60.00	\$0.00
Cremation - Resident		\$600.00	\$0.00
Cremation - Non Resident		\$660.00	\$0.00
INTERMENTS (BURIALS)			
Adult - Resident	8	\$1,050.00	\$8,400.00
Adult - Non Resident	2	\$1,155.00	\$2,310.00
Adult - Resident Family HSD	2	\$550.00	\$1,100.00
Adult - Non Resident Family HSD		\$655.00	\$0.00
Child - Resident		\$825.00	\$0.00
Child - Non Resident		\$908.00	\$0.00
Child - Resident Family HSD		\$325.00	\$0.00
Child - Non Resident Family HSD		\$408.00	\$0.00
Cremation - Resident	2	\$650.00	\$1,300.00
Cremation - Non Resident		\$715.00	\$0.00
Double Depth (1st) Resident	1	\$450.00	\$450.00
Double Depth (1st) Non Resident		\$495.00	\$0.00
DISINTERMENT			
Adult		\$2,100.00	\$0.00
Child		\$1,900.00	\$0.00
Infant		\$1,150.00	\$0.00
Cremation		\$980.00	\$0.00
MISCELLAENOUS FEES			
Cremation Stand / Set-up		\$40.00	\$0.00
Graveside Lowering Device		\$70.00	\$0.00

2016 Graceland Cemetery December Revenue Report

Headstone Foundation Fee	4	\$50.00	\$200.00
Genealogy Research / Hr.		\$40.00	\$0.00
Recording & Transfer		\$70.00	\$0.00
Photocopies		\$2.00	\$0.00
Headstone Photos		\$25.00	\$0.00
Holiday Wreath Sales	5	\$45.00	\$225.00
Dept. of Health Svcs. HSD	2	\$500.00	\$1,000.00
HSD Infants - All fees	1	\$100.00	\$100.00
Saturday Service Fees			
9:00 am - 12:00 noon		\$370.00	\$0.00
12:00 noon - 1:00 pm		\$435.00	\$0.00
1:00 - 2:00 pm		\$500.00	\$0.00
Chapel Fees			
1st Hour with Burial		\$0.00	\$0.00
Additional Hour(s) w/Burial		\$150.00	\$0.00
1st Hour Without Burial		\$260.00	\$0.00
Govt' Marker Installation			
Granite		\$250.00	\$0.00
Cremation		\$200.00	\$0.00
Bronze		\$300.00	\$0.00
Graceland Total			\$21,982.00
	2016 Crypt/Niches R	evenue Report	
Crunt/Nicho Povernos			
Crypt/Niche Revenues		¢2.050.00	¢2.000.00
Crypt/Niche Revenue		\$3,960.00	\$3,960.00
Graceland Total			\$3,960.00